
?È�nPA4¢��w

JcþÆ2018 oWã

2019c 1� 1F

1 ?Ö£ã

3ykdecafµe�Ä:þ§¢yéu½�-Ú^ó�¦)"

2 ¢�ö�

µe¥®²�Ñ
¦^S��{¦)¹�Cþ�§��{§�I

��\*ÐÒ�±¦�Ù|±½�-Ú^ó�¦)"Ø�¦^Map<Temp,

Set<Integer>>5L«LiveOut,LiveUseÚLiveIn§L«��Cþ9ÙéA

�½�:/Ú^:¶^Set<Integer> 5L«Def§ùpéDef�½Â��


?Uµ¤k3Ä�¬S½��CþÑ3Def¥"
�¤±¦^Set<Integer>

�;´Ï��±ÏLTAC��é?Ò{ü��äÑ��½�´Ø´3Ä�

¬S§Ï
�
!��mØI��Ù½�:"é²w§êâ6�§�±L

«�µ

LiveOut[i] =
⋃

i→j LiveIn[j]

LiveIn[i] = LiveUse[i] ∪ (LiveOut[i]−Def [i])
(1)

Ù¥§LiveOut[i]−Def [i] �½Â�µ

{(V ar x, Position p)|(x, p) ∈ LiveOut[i] ∧ (x /∈ Def [i] ∨ p /∈ i} (2)
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3dataflow/BasicBlock.java¥òLiveUse, LiveIn, LiveOut?U�Map<Temp,

Set<Integer>>§¿3�E¼êÐ©zU�µ
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new TreeMap<Temp, Set<Integer>>(Temp.ID COMPARATOR)

¿òDef?U¤Set<Integer> §ò�E¼êÐ©zU�µ

new TreeSet<Temp>(Temp.ID COMPARATOR)

3¼êBasicBlock.computeDefAndLiveUse ¥?1?U§éu3�

étac�½�Cþtemp§òÙ\\�def8Ü¥¶éu3�étac¦^
�

�½�Cþtemp§òÙ �\\�LiveUse[temp]¥"

2.2 ¦Ñz�Ä�¬�m©Ú(å �

3dataflow/BasicBlock.java¥\\CþbeginId, endId§¿3¼

êBasicBlock.allocateTacIds¥O�m©Ú(å �
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• l��c�gO�c�^�é�liveOutMap§=¦^��CþÒ\

\liveOutMap§½���CþÒlliveOutMap¥íK�"
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BASIC BLOCK 1 :

21 END BY BEQZ, if T9 =

0 : goto 7; 1 : goto 2

BASIC BLOCK 2 :

22 T14 = 1 [ 23 ]

23 T3 = T14 [ 35 ]

24 END BY BEQZ, if T9 =

0 : goto 4; 1 : goto 3

BASIC BLOCK 3 :

25 call Main.f

26 END BY BRANCH, goto 4

BASIC BLOCK 4 :

27 T15 = 1 [ 28 ]

28 T16 = ( T4 + T15) [ 29 ]

29 T4 = T16 [ 28 32 36 ]

30 END BY BEQZ, if T9 =

0 : goto 6; 1 : goto 5

BASIC BLOCK 5 :

31 T17 = 4 [ 32 ]

32 T18 = ( T4 − T17) [ 33 ]

33 T4 = T18 [ 28 36 ]

34 END BY BRANCH, goto 6

BASIC BLOCK 6 :

35 T5 = T3 [ ]

36 T6 = T4 [ ]

37 END BY BRANCH, goto 1
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